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Problem 1

1. fd A AEIER T(n) = 4T (n/3) +n WIfEHR T(n) = O(n°%%) | ($75%: FELERE T
W2 — MR I LA SE JH 44 )
2. PTG T (n) = 3T (Vn) +logn o VREYMENZ @ SRR, Al

LR E A TR
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Problem 2

L XA T (n) =T(n— 1) +T(n/2) +n , FNEIAREHE —DNEFRHRT LA, A
TRV TERIE o
2. BT () =T (an) +T((1 - a)n) +cn , FIHBIER S B — R, Hb

O<a<1fc>02HEE.
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Problem 3

XFRAERIEZ, A 07 VA K I B A
1. T(n) = 2T(n/4) + 1

2. T(n) = 2T (n/4) + v

3. T(n) = 2T (n/4) +n

4. T(n) =2T(n/4) + n?
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Problem 4

SRR BLT— WL Strassen SRR AL AN B IL . MUY SAGE G T3E , +F
BB RR nf4 x n/4 4, SRREH LRI 0(n®) 1. MhFEHE, it
MFIAT 2 DA T, A fE K Strassen 5994 . QSRABAYFEILBIEE a 4> A0, U
MORBATIE T(n) BB T(n) = aT(n/4) + ©(n?) o SRR FIR R AT

Strassen 575, a WEREEEN &% /07
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Problem 5

FREIEMEI 3 19— WHEANEL c < 1, IRWEM af(n/b) < cf(n) AW
o HHH—ABIT, K ER a > 1,6 > 1 HeREL f(n) 32 TS0 3 R I 251
HIBIrA 454
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Problem 6
WERA: AR f(n) = @%@ loghn) | Hidh k >0, IBAEEBHRMM N
T(n) = O(n'°% % logh*! n)

AR, BE n 2 b K.
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Problem 7

R RO 3 gt amiE T, MR E L R, AT REANES <1, IE
WZAE af(n/b) < cf (n) MALABEWEAETE e > 0, 5 f(n) = Q(nloeate) |
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